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QUESTION 1

Devon is writing the following code to avoid what?

Sub Application_BeginRequest(Sender as object, E as EventArgs)
If (Request.Path.Indexof(chr(92)) >= 0 OR _
System.l0.Path.GetFullPath

(Request.PhysicalPath) Request.PhysicalPath)

then

Throw New HttpException(404, "Not Found"

End If

End Sub

A. Type safety

B. GET source code path
C. Parent path tampering
D. Canonicalization

Correct Answer: D

QUESTION 2

Kevin wants to use an SSL certificate from his Mac OS X server so that he can send and receive encrypted email. What
would Kevin accomplish by typing in the following command? certtool ¢ k=/Users/root/Library/Keychains/certkc

A. Remove any unnecessary permissions on the file "certkc"
B. Create keychain called "certkc"

C. Copy the root certificate of the server to the file "certkc"
D. Import encryption key into the file "certkc"

Correct Answer: B

QUESTION 3
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Steve is using the libcap library to create scripts for capturing and analyzing network traffic.

Steve has never used libcap before and is struggling with finding out the correct functions to use. Steve is trying to pick
the default network interface in his script and does not know which function to use.

Which function would he use to correctly choose the default interface in the script?
A. pcap_open_live

B. pcap_int_default

C. pcap_lookupdev

D. pcap_use_int

Correct Answer: C

QUESTION 4

Shayla is designing a web-based application that will pass data to and from a company extranet. This data is very
sensitive and must be protected at all costs. Shayla will use a digital certificate and a digital signature to protect the
data. The digital signature she has chosen to use is based on the difficulty in computing discrete logarithms.

Which digital signature has she chosen?

A. Rabin

B. Diffie-Hellman

C. SA-PSS

D. ElGamal

Correct Answer: D

QUESTION 5

When making a RPC function call on the local machine, what function should be used?
A. ncacn_ip_tcp

B. Iclrpc

C. ncalrpc

D. get_local_rpc

Correct Answer: C
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